&8

RIF / Product Number

AUP -

H~t &

H dimension

Wik

W dimension

RAL#HE / Feet specification

D~F%

D dimension

& (R/A)

Feet (R or A)

EXP/H)
Screw (P or H)

@30 10

@30 12

#ERNZA / Components

BT =H)LT—% / Technical Datall

No. 2 / Part name #= / Pcs #ME / Material & - RMEMIE / Color:Finish
WitV / Recommended torque 1 a—F—J0vy A FILEHAF Rk ADCI2 ILN—, TSGR (NEELE)
M25 : 0.15N*m ~ 0.2N*m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
B4R T IV H# A6063S-T5 LN —- R EE (NEREEALIE)
M3.M4 : 0.3N"m ~ 0.6N-m 2 Frame 2 Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
s IL—L . TV 4 A6063S-T5 DIN—- B (REMRILE)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
. ISR ) 7 L3R A1100P DIILN—-FE (ZEBRELE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 HN— 1 F7IL2HR A1100P DIVN— R (EEEBELE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 ThiN— ! 7 ILEHR A1100P DVIVN—-ZE (REEENE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
JLE TPE (TZ3AK) T3vH
7 Rubber feet 4 TPE (Elastomer) Black
FILZE T &YYarI L DILIS—TILIA & TS59Y
Aluminium feet Aluminium & Silicone Silver-Anodized & Black
8 B{TE R (ILM3 x 8) 16 &% =YL AYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 RAFTER (BFMS3 x 5) o % ZuiILAvF
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 BRfFER (/N 1FM4 x 8) 4 E73 ZRIaA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
» BFER GETBALEFAM25 x 7) 1 #* =TIV AYE
Screw (Captive pan head M2.5 — 7) Steel Nickel plated
.4
5 L ]

i 1

Color Type

B HE R14L# / Original trapezoid head screw specification

El L / Rubber feet

TILSZE / Aluminium feet

1415k / Color Type

IE FS5 R / Phillips 73F / Hexagon—socket

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

INRIIEBRTILIH Y r—X
ALUMINIUM ENCLOSURE with DETACHABLE PANELS

o]

525 / Code 3—7+—70v% / Corner block {8l#x / Frame ISR )L / Panel $3/8— / Top cover | F//3— / Bottom cover 758/ Approved 1% [®/Checked #U[X]/Created
S'S 2 )LsN— / Silver 2 )LiN— / Silver | )LsN— / Silver | /JLsN— / Silver 2 )LiN— / Silver
= ST , ST , ST , — , iR £ ¥
S B 75949 / Black < JLiN—/ Silver | 2 JL/N\— / Silver > )JLsN— / Silver < )JLsN— / Silver

FIE /Product number

AUP88-16-36[1[1-[1[]

RIE/Scale

R—T/Page

{ERL B /Date

2023/11/16

177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

B-B(1:45)

LY

[0.4
°

113

313

E view

A view
160 05
B = A B
(ap) I
s 1 | !
H - —— -
2 |
~ A
F view

1.5

C view

A-A(1:45) C-C(1:45)
Ej ) ’
© [e0]
346 153
B view
360 =0.5
mmf/Title

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

INRIIEBRTILIH Y r—X

ALUMINIUM ENCLOSURE with DETACHABLE PANELS

o]

7 5%/ Approved

iR

t&X]/Checked

3

#I[X/Created

wF

FIE /Product number

AUP88-16-36[1[1-[1[]

RE/Scale
1:45

{ERL B /Date

2023/11/24

R— /Page

2 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

87

14

R / Front side

D {8I#% / D Frame

XM / Front side

310 225
™
(e
™
™
™~
[e0]
Lo
25
™
™
\"‘|_‘_‘_7-a
(ap)
) L73)
& S
2-M3AHY % 5

2—-M3 Countersunk
X RXTmE+EREFE / Same on the other side.

K2 i

Z M / Back side

% / Back side

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:25
iR £ wF ~R—/Page
H88 — D360 YERLH/Date 2023/11/217 3 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

86

-

2-M2.5

110

2-M3AHY IR
2-M3 Countersunk

14

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—Ls

Panel support frame

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1.5:1
iR E: w4t —
W160 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

109.5 35 2 86
e\ ) ™ I:' 1) Y
7 A\ o 14 (¢
.H
©
q:
o
£
1o - 10
~ é REES—MA ©
- Surface protective film side
#H
I
R
N\ ) T I: M a
X7 A\ 1 hd h 4
A TiE / Max dim. 102 £ 0.5 \
4-M25FAZ LX) —T
4—Metal sleeve for M2.5
R / Front side Z M / Back side
B /A2 )L / B Panel
I3 7N I:' M M
A4 A\ w w
RE—MA
Surface protective film side
N N I: Py n
!\VJ sg! 1 A4 A\
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI| #REH4hTFEHTE S O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created R F /Product number RE/Scale
1:15
iR =3 wF R— /Page
H88 — W160 {ERL B /Date 2023/12/20 5 /1
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 4-@4.5 2

AT / Max dim. 313 £ 0.5

<

> S

g ™
RES—MA
Surface protective film side

O O O o]
A3hTE / Max dim. 113 £0.5
Z M / Front side Z2M / Back side

mmf/Title
TAKACHI] BXEHANTFEHITE Fi8— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
T = TS RE/Scale
7 B/ Approved &/ Checked #1[X]/Created FIFE /Product number
1:25
AR =3 BF R—/Page
W160 - D360 YERLH/Date 2023/12/13 6 /7
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




349.4

149.4

130
4R147 101.4 2
4-@4.5
[Ie]
o
_H
™
™
£
o ~ ©
™ S X
™ =y (E\S
;4 RE—MAI
:': Surface protective film side
R
T
o 4-M4
A#Ti% / Max dim. 113 £ 05
M@ / Front side % & / Back side
fnd/Title
TAKACHI] #R&HAHFEMRTE THsA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T = = RE/Scale
7 B/ Approved t&X]/Checked #1[X]/Created R F /Product number
1:25
AR =3 BF R—/Page
W160 - D360 {ERL B /Date 2023/12/14 771
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




